Class 12 Chemistry 350 Most VVI Objective Question with Answer.

Part-2
36- bec IHTS AT F HFT WIel g &7 gfawera 8
(a) 32%
(b) 34%
(c) 64%
Part-1 (d) 74%
36- The percentage of free space in the bcc unit cell is:
1 FIT A9 G@ART TR ST e @ (a) 32%
(b) 34%
(a) ATHATI AT (c) 64%
(b) FYeredr (d) 74%
() Ans-: a
() Feera '
1(-:)Which ils.tnot affected by heat: 37- %12 T ﬁa:ﬂ?l' RedeT &7 m EE: I
a) generality ..
(b) molality Heftra %l
(c) molarity (a) T F GIAT] FEAT §
(d) softness (b) Fega & waAqea X @
Answer-: b (c) FOTIIT & WRATI & ¥
’ ‘ (d) 4TIl & QT &
2-: fArafaf@a A fraer fAT sraad@e HWFAA  37- Faraday's second law of dissipation is related to.
gNm: (a) atomic number of the cation
3 (b) by an equivalent load of electricity
(a) (c) the atomic number of the anion
(b) m:ﬁsr (d) the velocity of the cation
(c) K204
(d) Nacl Ans-: b
2-: Which of the following will have maximum freezing
point depression: 38-y4H Hife i AP & fow 31'&}1’311'1_!; T HT
(a) Urea
(b) Glucose A el %I
(c) K2504 (a) 0.6/k
(d) Nacl (b) 0.683/k
(c) 0.863/k
Answer-: ¢ (d) 0.10/k
38- The half-life period for a reaction of the first order is
(a) 0.6/k
(b) 0.683/k
(c) 0.863/k
(d) 0.10/k

Ans:-b



3-: fFHlY AfATFAT F1 o1 FAefaf@T TR @
SOFd 81T & 9=K.[A]2[B] AT 5 IFATHAT Fir ;e
gl

3-: The rate of a reaction is expressed in the following
way: velocity=K.[A]?[B] then the order of the reaction
will be

(a)2

(b) 3

(1

(d)0

Answer-: b

4—: FIIT IIBAFET FT T &
The formula for copper pyrite is:
(a) CuFeS2

(b) CuFeS

(c) Cu2s

(d) Cu2FeS2

Answer-: a

5-: AU # WAIfOF qIw S arelT e B
The most abundant element in the earth's crust is:
(a) Mg

(b) Fe

(c) Al

(d) Zn

BSEB=2015

Answer-: ¢

6 faeer & & frmahr angpfa aqewad 8
Which of the following has a tetrahedral shape
(A) [Ni(CN)]J*-

(B) [Ni(CN)]

(C) [pb(CN)]?

(D) [Ni(C1)41?

Answer-: d

7-: [Ni (CO)a] & Ni 3TFHIRIOT 3iF {Im:
The Ni oxidation number in [Ni(CO)4] will be:
(a) 2

(b)1

(c)4

(d)0

Answer-: d

39- v fAfags &1 rae+ ¥

(a) ATFETSE
(b) TS
(c) AeAAeET
(d) 3T & P

39. The ore of aluminum is :
(a) Bauxite
(b) Hematite
(c) Magnetite
(d) none of these

Ans:- a

40-ffoaH FT FA T ?
(a) He
(b) Hi
(c) Hm
(d)H
40- What is the formula of Helium?
(a) He
(b) Hi
(c) Hm
(d)H

Ans:- a

41- FAFAfAf@aT & @ ®lT vF 99T FGHAT A FT
dea gt gl

(a) Mg

(b) Fe

(c) Ni

(d) Zn

41- Which of the following is not a first transition series
element.

(a) Mg

(b) Fe

(c) Ni

(d) Zn

Ans:- a

42- ¥t T A &

The formula of benzene is:
(a) C6H5

(b) C6H6

(c) C6H12

(d) none of these

Ans:-b



8- 3%AT 3R Rega #1 rear °a1e+
(a) TRRIT

(b) ERT

(c) efrerr

(d) ApTFE

8-: A good conductor of heat and electricity is:
(a) Charcoal

(b) diamond

(c) glass

(d) graphite

BSEB = 2016

Answer-: d

9-: hep SIS AT A GATUST hr FE&AT ¢
The number of atoms in the hcp unit cell is:
(a)6

(b) 4

(c) 12

(d) 7

BSEB = 2020

Answer-: ¢

10-: Rt avg & wfafear s &1 ¥ ol e
LR

(a) IXAT AT

(b) FHTT HN

(c) 37T 8

(d) GfhT $R

10-: The rate of reaction of an object depends on:
(a) atomic weight

(b) Equivalent load

(c) Molecular weight

(d) operating load

BSEB = 2017

Answer-: d

11-: =R &1 g7 &
The formula for cinnabar is:
(a) HgS

(b) PbS

(c) ZnS

(d) H2s

BSEB = 2016

Answer-: a

43- f3eTer FT 39ANT BT §;
(a) TENRREF F T A

(b) TérAfCew (qfcell) & v 7
(c) satareft & T 7
(d) 3R @ F1§ A

43- Dettol is used;
(a) as antipyretic
(b) as an antiseptic
(c) as antipyretic
(d) none of these

BSCB-1990-17-19

Ans:- b

44- IEER 3T qere §:
(a) IRRYT
(b) BRI

(c) FTEr

(d) APTEE

44- Persistent solid substance is :
(a) Charcoal

(b) diamond

(c) Couch

(d) graphite

BSEB = 2017-20

Ans:- ¢

45- Y ST FT pH BT &
The pH of pure water is:
(a)1

(b) 4

(c)3

(d)7

BSEB = 2019

Ans:-d

46- 39FF H IR INER F FEa &

(a) FelFrdH

(b) far e

(c) 3aT

(d) 3R @ FI§ A

46- The impurity present in the ore is called:

(a) flux

(b) Alloy

(c) gang

(d) none of these
BSEB = 2009
Ans:-c



12-: fF® 9 & dcd F WHAV dcd Fel AT ¢
Elements of which group are called transition elements:

(a) p-block
(b) S-block
(c) d-block
(d) d-block
BSEB-: 2015-19
Answer-: ¢

13-: Na3 [Cr (C204)3] & Cr &Y 3qHgHIASId WEAT ¢
The covalent number of Crin Na3 [Cr(C204)3] is :

(a)1
(b) 4
(c)3
(d) 5
BSEB=2020
Answer-: ¢

14-;: SFaTET §:

(a) ARTICAS LLEEY

(b) TcITEY EIE?EF

(c) d9se E§FIT=F

(d) A9gEST EIE?I?

14-: Bakelite is:

(a) additive mode

(b) elastic polymer

(c) thermoplastic polymer
(d) thermoplastic polymer

BSEB = 2019C
Answer-: ¢

15-: H3PO3 TH ¢ :
(a) THSNIT®HAS 3o
(b) gfeeniAs 3rFa
(c) Rsnfews 3rFar
(d) g1 & Fg AN
15-: H3PO3isa:

(a) monophenolic acid
(b) biphasic acid

(c) Triphasmic acid

(d) none of these

BSEB = 2009
Answer-: b

47- RN AR sifererT ¥:

(a) T
(b) 3reITg
(c) 39uTd
(d) 3T & P L

47- Nitrogen and Oxygen are:
(a) metal

(b) non-metals

(c) metalloids

(d) none of these
"BSEB=.2019

Ans:- b

48-3UTST H 998 Y FE&AT §:
The number of bonds in ethene is:
(a)1

(b) 2

(c)3

(d)4

BSEB -2015

Ans:- b

49-GH\eT F I § |
Sucrose has the formula.
(a) C12H22012

(b) C12H22011

(c) C12H22010

(d) C12H22013

BSEB -1987-19

Ans:- b

50- huleeH fhasT AAAT §?
(a) TTIATT 6

(b) ATIATT 6-6

(c) AT 2-6

(d) 3T & HIS e

50- Caprolactam is the monomer of?
(a) Nylon 6

(b) Nylon 6-6

(c) Nylon 2-6

(d) none of these
BSEB 2009

Ans:- a



16 PeTfaRAe & #l gfdaE ¥ &
(a) &g A

(b) SFerrar Aol

(c) 93 TR &&

(d) 579 & FIS T

16-: Which of the following is a secondary cell:

(a) Concentrate Cell

(b) Leclanche cell

(c) lead storage battery
(d) none of these

BSEB = 2011

Answer-: ¢

17-: §ATT A CnH2n+2 arer I &
(a) 3Teshe

(b) 3TfeHeT

(c) IreahTSa

(d) 3T & F

17-: Compounds with the general formula CnH2n +2

are:

(a) alkane

(b) alkene

(c) alkyne

(d) none of these
BSEB=2012
Answer-: a

18-: CaO fruaT T &
(a) el o

(b) sfterm Hfarer

(c) EH IHFeT
(d) 3 & F§ gt

18-: CaO whose formula is:
(a) Black Chose

(b) Blue Kashish

(c) Lewis acid

(d) none of these

BSEB = 2012

Answer-: a

19-: §ifogH #1 q=T AT T
(a) &ar

(b) 3T+

(o) §F

(d) STer

51- Cus04. 5H20 fvweT | &

(a) Tl AT

(b) eI HfAer

(c) TISH 31l

(d) 37 & FI§ T

51- CuSO4. 5H20 is the formula of:
(a) Black Chose

(b) Blue Kashish

(c) Lewis acid

(d) none of these

BSEB-2012

Ans:- b

52- farafaf@a & sl & urg gHfa & Faa
IHTEAT A 91§ AT

(a) Bf3TH

(b) S&T

(c) o=

(d) =T

52- Which of the following metals is found in free state

in nature

(a) sodium
(b) iron

(c) Zinc

(d) gold
BSEB-2013-21
Ans:-d

53- HIRTH rad ARON & FFE 9 FT AEET B

(a) 9 |
(b) 9 1
(c) T IV

(d) 3T @ HIS TE

53- Sodium is a member of which group of the periodic

table.

(a) Group |

(b) Group Il

(c) Group IV

(d) none of these
BSEB-2015

Ans:- a

54- HHAUT dcd &
(a) 7

(b) 3reTgy

(c) d-@YS & dca

(d) g ¥ R A



19-: The main source of helium.
(a) wind

(b) Radium

(c) Surya

(d) water

BSEB-2013-15

Answer-: ¢

20-: XeF4 #T 3THTA &

(a) TTHeTRT

(b) T AT (FTFATAT TaleiX)
(c) i

(d) 38 @ F1§

20-: The shape of XeF4 is:
(a) tetrahedral

(b) square planar

(c) Angular

(d) none of these

BSEB= 2015

Answer-: b

21-: ATATHES HATF &
(a) &Y&T

(b) HIR

(c) S

(d) Reax

21-: Malachite Ore is :
(a) iron

(b) Copper

(c) Zinc

(d) Silver

BSEB = 2015-19
Answer-: b

22-: fovAq Y a9 TR sirrdieTor 3raer §
(a) +3

(b) +5

(c) +3 TYT +5 AT

(d) 3T & I el

22-: Bismat has the most stable oxidation state.
(a) +3

(b) +5

(c) both +3 and +5

(d) none of these

BSEB = 2018

Answer-: a

54- The transition element is:
(a) metal

(b) non-metals

(c) Elements of the d-section
(d) none of these
BSEB-2015-16-19

Ans:-c

55-: 3(d: Shigd THT AT & 3YHgHASTH TEAT
g B

The intercentered cubic structure has a covalent
number.

(A) 8

(B)6

(C)14

(D)12

Ans:-a

56- HI 4T FT MereT Fe=far@a & @ frw ffyr
garT fram e ¥

(a) BT Icvarrasr fafer
(b) e srqaest e
(c) #se gfssHor

(d) 3T & F 7

56- Copper metal is refined by which of the following
method?

(a) foam buoyancy method

(b) electrolytic refining

(c) Circle finishing

(d) none of these

BSEB-2019

Ans:- b

57 -CH4 H TA7AT ST & d&ar §
The number of sigma bonds in CH4 is
(a) 3

(b) 4

(c)1

(d) 2

BSEB-2019

Ans:- b

58-: farafaf@a & & =l a1 Adied e 71 @7 &
Which of the following is the formula for methoxy
methane:

(a) CH3-0-CH2

(b) CH3-0-CH3

(c) CH3-CO-CH2

(d) CH3CHO

BSEB-2020

Ans:-b



23-: fafaf@a & sl ar gad afFaemeh
FrFlHRS Jere

Which of the following is the most powerful oxidising
substance

(a) CI2

(b) 12

(C) F2

(d) Br2

BSEB=2012-16-20-21

Answer-: b

24-: GoPISS HATH FT THATEIOT FRaT FATT &
(a) fFaega faedeer fafer ganmr

(B) %eT 3cvarasr fafer g@wr

(c) #teT ganrT

(d) 3T & F

24-: Sulphide ore is collected from:
(a) by electrocution method

(B) by foam buoyancy method

(c) by roasting

(d) none of these

BSEB -2015-17

Answer-: b

25-: Arafaf@a & sl a1 guw 9fFqa &1 gHAT
dea 78 &

(a) =gT

(b) et

(c) AT

(d) dfaTs

25-: Which of the following is not a transition element
of the first row:

(a) iron

(b) Nickel

(C) Magnesium

(d) Chromium

BSEB -2010-12-17

Answer-: ¢

26-: fawer & 7 @1 HorEET AU A P
(a) BATF &1 IqaTHT

(b) FIYATH FT IealTeT

() gemfrr feramafierar

(d) aTSUETE T AR IFAHT

59- Rrafaf@a & Rt 1 yga=
Identify phenol in the following
(A)C6H6

(B) C6H3

(C) C5H5

(D) C6H50H

Ans:-d

60- Bl W RAef@eT Hr FAY T Talel g &
(a) @erf@sT A

(b) Rerf@= B

(c) Ref@a ¢

(d) 37 & FI§ T

60- Deficiency of which vitamin causes night blindness:
(a) Vitamin A
(b) Vitamin B
(c) Vitamin C
(d) none of these
BSEB-2016-17 (c)
Ans:-a

61- 3T FT T &
The formula of oleum is:
(a) H2s04

(b) H20

(c)H25207

(d) HF

BSEB-2013-14

Ans:-c

62- TATY] AT S BT ¢l

(a) TRAT F Tl i FEAT &

(b) TTHATT] & FAFelal A’ WISk A F&AT F AT F
(c) TTHATT] & FgeieT 3R el A F&ar it Ir &
(d) 3R @ F1§ A

62- Atomic mass is equal.

(a) the number of electrons in the atom

(b) the sum of the number of electrons and protons of
an atom

(c) the sum of the number of neutrons and protons of an
atom

(d) none of these

BSEB-2016

Ans:-c



26-: Which of the following is not a molecular property.
(a) depression of freezing point

(b) elevation of boiling point

(C) optical activity

(d) expected depression of vapor pressure
BSEB-2010-21-17(C)

Answer-: ¢

27-: FEAT Y FASTFAT §
The valency of carbon is
(a)3

(€)4

(c)1

(d) 2

BSEB-2016

Answer-: b

28-: T T FHTT TF &

The general formula for benzene is:
(a) CH

(b) C2H2

(c) CH3

(d) C6He6

BSEB= 2026-20

Answer-: d

29-: ABIEF Fa AR FFar SIvar #:
(a) o fafer garr

(b) 3Feares fafer garr

(c) TeRTer HRAYOT GaRT

(d) g fafer qarr

29-: Nitric acid is prepared by :

(a) by contact method

(b) Ostwald method

(c) by photosynthesis

(d) Haber method

BSEB - 2019
Answer-: b

30-: K2 [Ni (CN)4] FT IUPSC &ITe for@
(a) MERIH 2eT T A% (1)
(b) AFAIH 2T TWEAT kAT (1)
(c) AT 2ET WA kAT (0)
(d) AT 2T WEAT AT ()

30-: Write the IUPSC name of K2 [Ni(CN)4]
(a) Potassium tetracyano nickelate (1)

(b) Potassium tetra cyano nickelate (Il)

(c) Potassium Tetra Cyano Nickelate (0)
(d) Potassium Tetra Cyano Nickelate (lll)
BSEB-2010

63- S FIfTcH FT T o:
The formula of Lunar Caustic is :
(a) AINO3

(b) AgNO3

(c) CF2Cc12

(d) C6H5NC

BSEB-2010

Ans:- b

64- fArafaf@d & Fia a1 T T &
(a) Tsft 3ae @A g &

(b) g3t @forer 3T B 1

(c) wefy &t sy A T ¥

(d) g1 wafY

64- Which of the following statement is correct:
(a) All ores are minerals

(b) All minerals are ores.

(c) Not all alkali is in ash

(d) all of them

BSEB - 2020

Ans:-a

65- freler &1 framefler e @ar 8
The functional radical of ketones is :
(a) >C=0

(b) -CHO

(c) - COOH

(d)-OH

BSEB-2020

Ans:- a

66-: ATEHT AT & HRUT fhved T Gelca
(A) SEaT &

(B) TrEaT ©

(C) Tsh HAT Igdl

(D) g & FI§ 7E

66-: Density of crystal due to Shortkey defect
(A) increases

(B) decreases

(C) remains the same

(D) none of these

Ans:- b

67-: NaCl HCI Y 3UTASTF T&IAT ¢
The subvalent number of Cl in NaCl is
(A) 8

(B)3

(€4

(D) 2

Ans:- b



31-: Aafaf@a & sl @ I vevad waATOTw 21
(A) FRIT

(B) JTFHYSIeT

() fefor=r

(D) g7 wsft

31-: Which of the following gas is single atomic?
(A) Chlorine

(B) Oxygen

(C) Helium

(D) all of them

Answer-: ¢

32-;: T @a & #ieT p-salld & dca 81 &
Which of the following is not a p-block element
(A) Sn

(B) Al

(C) Mg

(D) pb

Answer-: ¢

33-: 3Tad RO & g 3da # deal Hr FEdT
¢

The number of elements in the second period of the
periodic table is

(A)8

(B) 16

()2

(D) 51 & ;S G

Answer-: a

34-: eI o §
tribasic acid is

(A) H3POA4

(B) H3PO2

(C) HPO3

(D) pbH20

Answer-: a

35-: gaifs faEror am@ar i St @
Highest diffusion capacity is found in

(A) He

(B) Ne

(C) Ar

(D) Non of these

Answer-: a

68-: Uh I Hel hI SHIS HIfSeHT A Fom
e
The number of angles in the unit cell of a simple cube is
(A)1
(B)3
(c)4a
(D) 2
Ans:- a

69-: el BN T 3URYTY H fhvee T geica :
(A) TreaT @

(8) aRafdT 7€ &ar &

(C) JgaT &

(D) AT AT TeaT §

69-: Density of crystal in presence of Frenkel defect :
(A) decreases

(B) does not change

(C) increases

(D) increases or decreases

Ans:- b

70-: FFE garer # WAl Wpeler averaT @
Which pair has maximum packing capacity?
(A) hcp and bcc

(B) hcp and ccp

(C) hep and ccp

(D) bce and fec

Ans:- ¢



Part-3

71-: WETAT WIEAT q1$ STt §
(A) DNA &

(B) RNA &

() Frafgsse &

(D) T F

71-: Staircase structure is found
(A) in DNA

(B) RNA

(C) Carbohydrate

(D) in proteins

Ans-: a

72-: ey vaecy # faRa sra=t # A
foreiy aigt et @

(A) gfaer 9

(B) AT WX

() Fegga trfas Jears
(D) 3H & FF AL

72-: The amount of ions deposited in the
electrolyte does not depend on

(A) on resistance

(B) on time

(C) electrochemical equivalent

(D) none of these

Part-4

1-: QAT HT HTFHRIOT FEIT 2T §:
The oxidation number of gold is:

(a) +1

(b)O

(c)-1

(d) +2

Ans-: a

2-: GHHAUT dcd Y Aged ATFHIHIOT JTEAT S2ATar
L8

Transition element which shows importance oxidation
state:

(a) Fe

(b) Ni

(c) Mn

(d) pt

Ans-: ¢

3-: TET G T &
extinguished chosen:
(a) Cao

(b) CaCcO3

(c) Ca(OH)2

(d) CaCl2

Ans-: ¢

BSEB = 2016
4-: FAFEIT T ATALA AT §

The charge on the electron is
(A) 4.1x10-° C

(B) 1.9x10-"° C

(C) 1.6x10-° C

(D) 16x10-" C

Ans-: c



73 Rfrse sy & g &
(A) 3H-"

(B) 3NH-' |H-"

(c) 3#-' |+

(D) 5H &

73-: is the unit of specific resistance.
(A) Ohm-!

(B) Ohm-' cm-!

(C) ohm-"cm

(D) any of these

74-: et RAfee #1 e & & Fle o7 &
(a) U3eC & A FT qTde HIAT &

(b) TW3eC & AIH T ITedT ET FIAT

(c) Xt

(d) 3T & F§

74-: Which of the following is a property of an ideal
solution:

(a) obeys Raoult's law

(b) does not obey Raoult's law

(c) both

(d) none of these

75- BT e FrEr HIARFAT F R@gemar 8

Which represents the zero order reaction?
3 n 5 = e = m_

Answer-A

76-: @farsr fOwd o 1 fasador g @
HgdTdr gl

(a) FeIFH

(b) 3TTTH

(c) 3T

(d) 3T & F$ et

5-: faeraeT & ATerRT FATIUTE Bl B
(A) e

(B) 3rT=lT Y HEAT F

() faeraet Y AT

(D) 37 ¥ I At

5-: The conductivity of the solution is proportional to.
(A) Dilution

(B) the number of ions

(C) volume of solution

(D) none of these

Ans-: b

6-: Rega IrvaeT da 7 sAwcia o7 sAaes &
el & yaer HIar § 3@ FEd &

(A) Faz

(B) TS

(c) axat

(D) 573 & FI§ ALt

6- The electrode through which the electron enters the
solution in an electrolyte cell is called

(A) cathode

(B) Anode

(C) both

(D) none of these

Ans-: a

7-: fnelt AfRTFT &1 dor g yovR & saea

giar § a1 = k[AP[B]° af 38 IfRfFar i FfE et
The rate of a reaction is expressed in the following way,
velocity = k[A]*[B]° then the order of the reaction will be
(A)1

(B) 2

(C)4

(D)5

Ans-: d

8-:fFT # ¥ g7 T FAET FT 30T ¢ |
(A) FaoF

(B) e

(C) T

(D) Sreifest

8-: Which of the following is an example of a liquid-
loving colloid.

(A) Gold

(B) sulfur

(C) Coal

(D) Gelatin

Ans-: d



76-: The mineral from which the metal is extracted
is called.
(a) flux
(b) ore
(c) gang
(d) none of these
BSEB= 2020

77-: 3571 3R el FREARY &
(a) &7

(b) 31847

(c) IT&T

(d) 3TH & FI$ et

77-: White and yellow phosphorus is:
(a) metal

(b) non-metals

(c) allotropes

(d) none of these

BSEB= 2019-20

78-: H2S04 T& &

(a) SASTIREAF el
(b) Tl HTFEA® 3HFer
(c) gfasnfers &R

(d) g1 & H$ et

78-:H2SO4 is a :

(a) biphasic acid

(b) single phosphoric acid
(c) biphasic base

(d) none of these

BSEB= 1995-19

79-: Ffaf@d & @ Fi9 vHa dwEs §
(a) gehrsT
(b) Te[PIsT
(c) SerersT
(d) s

79-: Which of the following is a single saccharide
(a) Sucrose

(b) Glucose

(c) fructose

(d) lactose

BSEB= 2017

9-: P205 3TOT § TH
(A) 3rferaror
(ECEUAED

(C) rTHRF

(D)3 & +$

9-: P205 is a good
(A) adsorption
(B) absorber
(C) deductive
(D) any of these

Ans-: b
BSEB=1995-2017C

10-: farafaf@a & s o woe Fia @
(A) 3T

(B) WeaRa aw

(C) Fh

(D) 551 & FI§

10-: Which of the following is a solid solid community
(A) Dhumra

(B) Synthesized Gem

(C) Cake

(D) any of these

Ans-: b

BSEB = 2016C

11-: 3&Fd W A 91T AT B
(A) =T

(B) FUTcHS

(C) IATcHSR

(D) 3T | FI§

11-: The charge is found on the blood.
(A) Nil

(B) negative

(C) positive

(D) any of these

Ans-: b

BSEB = 1993

12-: FAfaf@aT & GHAT dca § |
(A) Na, Ca

(B) Mg, Al

(C)K, P

(D) Cu, Fe

12-: The following is the transition element.
(A) Na, Ca

(B) Mg, Al

(C)K, P

(D) Cu, Fe

~Ans-:d



80-: fr=ifaf@a & fras faw e &1
HaAAA HAfFaH g

(a) K2504

(b) NaCl

(c) R

(d) eIt

80-: For which of the following the depression of
freezing point will be maximum

(a) K2s04

(b) NaCl

(c) Urea

(d) Glucose

BSEB= 2009-22

81-: Peaier v ¥ :
(a) ITSHY IrePle
(b) AH{T redhigeT
(c) R rewige
(d) TISETSTEH el

81-: Glycerolisa:

(a) primary alcohol
(b) Secondary alcohol
(c) Tertiary alcohol
(d) trihydric alcohol
BSEB= 2010

82-: fAFfaf@d # @ Fla &1 FueAeT ger
R

(a) AT 6-6

(b) ATIATT 6

(c) Peraee

(d) STt

82-: Which of the following is not a condensation
polymer

(a) Nylon 6-6

(b) Nylon 6

(c) Glyptal

(d) Decran

BSEB= 2010

13- PefafET § @ i @1 acd FAY & T

W §

(A) Co

(B) Ni

(C) Hg (9T)

(D) Mn

13-: Which of the following element is liquid at room
temperature

(A) Co

(B) Ni

(C) Hg (Mercury)
(D) Mn

Ans-: ¢

BSEB = 2000

14-: 3/ oNdlvs FT 3<EIOT §
(A) FTSIT HHE

(B) AATSEY HIE

(C) TTEITSE WHE

(D) g1 Wi

14-: An example of a neutral ligand is
(A) halogen group

(B) nitro group

(C) cyanite group

(D) all of them

Ans-: b

BSEB= 1980

15-: [NiCO4] FT IUPACATH &
(A) eeT FrEfdr A (iv)
(B) T FEHT A% (i)

() eeT FrEfet AFer (v)

(D) 22T FrEfeAt e (0)
15-: IUPAC name of [NiCO4] is
(A) Tetracarbony Nickel (iv)
(B) Tetracarbony Nickel (i)

(C) Tetracarbony Nickel (v)
(D) Tetracarbony Nickel (0)
Ans-: d

16-: K4 [ Fe(CN)6] FT Fe THHIOT T &
(A) dsp2

(B) Sp3

(C) d%sp3

(D)Sp3d2



83 fy TT W@ T b
(a) Preemaft

(b) FFHAIEH

(c) gfcieft

(d) g1 & F§ gl

83-:B.H.C.is a:
(a) insecticide
(b) hypnotic
(c) anti-supply
(d) none of these
BSEB= 2011

84-: YIH FIfe FIATFAT F AT Jo7 Bywiw A
FHE Bl B

(A) THT

(B) ¥HI-'

() Ara-clex s

(D) AYT-' Vs’

84-: The unit of rate constant for a first order
reaction is

(A) Time

(B) Time-!

(C) mole-liter second

(D) mol-' second-!

BSEB = 2009

85-: WuH Ffe & AT 1 3¢y Iy Frr
fasiy ardt wclt & o

(A) gfader @

(B) ATIFHA W

(C)ga W

(D) FoTH & g

85-: Half life time of first order reaction does not
depend on e

(A) on resistance

(B) at temperature

(C) under pressure

(D) any of these

BSEB = 2017

* 16-: What is the Fe processing of K4 [ Fe(CN)6]

(A) dsp2

(B) Sp3

(C) d%sp3

(D)Spd2

Ans-: c

BSEB= 1992-2011-17C

17-: K2[ Ni (CN)4] T Ni YT FIT §
(A) dsp 2

(B) sp?

(C) d2sp3

(D) sp3d2

17-: What is the Ni processing of K2[Ni(CN)4]
(A) dsp 2

(B) sp®

(C) d2sp3

(D) sp3d2

Ans-: b

18-: K3[ Fe (CN)6 ] U& &
(A) 39TEEASTH HEAT
(B) WTROT &aeT

(C) &fas arqor

(D) 57 {

18-:K3[ Fe (CN)6]is a
(A) Covalent Number
(B) Ordinary reaper
(C) double salt

(D) any of these
Ans-: a

BSEB = 2019

19-: CH3CH2NH2 FT Fgl SATaT ¢
(a) FUTFS I

(DR IEIECREIC)

(c) Aumser WAl

(d) 3T

19-: CH3CH2NH2 is called.
(a) ethyl amine

(b) propyl amine

(c) methyl amine

(d) ammonia

Ans-: a

BSEB-2019



86-: T e FATFIT & AT Jor e A
3HS ¢
(A) AT
(B) §HAT-
(C) AreT-efeT-' Fdhs-
(D) AYer-' Whs-"
86-: The unit of rate constant for zero order
reaction is
(A) Time
(B) Time-!
(C) mole-litre-' second-'
(D) mol-' second-!

87- 3MEfaad wHIFOT ¢
Arrhenius equation is

(A) k = Ae—Ea/RT

(B) k=- Ae—Ea/RT

(C) k = Ae -AH/RT

(D) none of these

88-: fésar worrg wefdia gar &
(A) IrEafa® O garT

(B) FIeIISS @RI

(C) =Yer @RI

(D) g1 | g Tl

88-: The Tyndall Effect is displayed
(A) by real solution

(B) colloid

(C) by solution

(D) none of these

BSEB = 2018C

89-: fraifaf@a & & #i FaEH A 781 &
(A) ST

(B)q&r

(c) Mg

(D 3T

89-: Which of the following is not a colloidal
solution

(A) water

(B) Milk

(c) gum

(D smoke

20-: w3 &1 IHTAMVT IRFF & GERT FEH
FOF g 8

(a) >CO
(b) NH3
(c) NaCiI3
(d) H2

20-: Which gas is most absorbed by charcoal
(a) >CO
(b) NH3
(c) NaCI3
(d) H2
Ans-: a
BSEB-2018

21-: frelt avg F wfafrar F@ #1 [ AR Far
gl

(a) TRATY $R T

(b) FAGET R W

(c) 3] HR T

(d) FFT R &

21- : The rate of reaction of an object depends on
(a) atomic weight

(b) at equivalent load

(c) on molecular weight

(d) at active load

Ans-: d

BSEB-2017

22-: %A1 AR Rega #1 a1 9o+
(a) €T

(b) IR

(c) FIF

(d) APTSE

22-: is a good conductor of heat and electricity
(a) diamond

(b) Charcoal

(c) Coke

(d) graphite

Ans-: d

BSEB-2016

23-: SdlET AT Tt H FleT TAS §
Who is capable of making zwitter ion

(a) CH3NO2

(b) CH3COOH

(c) CH3CH2NH2

(d) HZNCH2COOH

Ans-: d

BSEB-2011



90-: d-3Tfdee FT HTFR T &
(A) M

(B) SFader

(C) s9el SFaad

(D) 5H & HF AL

90-: The size of the d-orbital is
(A) bullets

(B) Dumbwell

(C) Double Dumbwell

(D) none of these

BSEB = 2016

91-: Afaf@a & Fia-a1 ga W= FaEs &2

(a)q&r

(b) 7t

(c) g
(d) T
91-: Which of the following liquid is a lubricious
colloid?

(a) Milk

(b) Gum

(c) fog

(d) blood
BSEB= 2012

92-: fAF & FlT T FEW T HFHFRE
ey §:

Which of the following is the strongest oxidising
substance:

(a) F2

(b) 12

(c) CI2

(d) Br2

BSEB=2012-16

93-: SIferIH FT HE&T BT 74T § ?

(a) geeht

(b) PRIST #T @A

(c) §F AT ATSEE
(d) STer
93-: What is the main source of helium?
(a) Earth
(b) coal mine
(c) Sun or Monazite
~ (d) water

24-: COOH 3T F 3HaTal THIAT 3Fer F 91T AT @

Found in amino acids other than COOH group
(a) -OH

(b) -NH2

(c) >Co

(d) -CHO

Ans-: b

BSEB-2009

25-; @ U7 FEH HAF g B
(a) FIEPRE H

(b) FTeeT #

(c) oY &

(d) S/ &

25-: The chain property is highest.
(a) Phosphorus

(b) in carbon

(c) Sulfur

(d) Zinc

Ans-: b

BSEB - 2016

267 # & Fla Puleh ARAT FT T &
Which of the following is the formula for methoxy
methane

(A) CH3-O-CH3

(B) C2H5-0-CH3

(C) CH3-COOH

(D) CH3-CH-CH3

Ans-: a

BSEB= 2020

27-: dIcdl HEﬁI 7 Feafaf@a & ¥ f5u 31151’"33
HT FITAT g §.

(A) 3TATET HT JHiFHTSS

(B) 1T JTFATES

() Mf3Tw 3iiFurss

(D) i 3iferaTSS

27-: Which of the following oxides is reduced in blast
furnace?

(A) oxide of iron

(B) copper oxide

(C) sodium oxide

(D) Zinc Oxide

Ans-: a

BSEB = 2002-20



94-: §RT H FIaeT HT THRIT §:

The hybridization of carbon in diamond is:

(a) sp2

(b) sp

(c) sp3

(d) dsp2
BSEB= 2016

95-: Yewlgler H1 fnamelter e

The active radical of alcohol is:

(a) -CHO

(b) -COOH

(c)-OH

(d) -co

BSEB= 2019-20-22

96-: USTSH F4T &
(a) FTaTETSEC

(b) ST

(c) aHr

(d)$TH & F$ e

96-: What is Enzyme:

(a) Carbohydrate
(b) Protein

(c) fat

(d) none of these
BSEB=1996-17-22

97-: JAHIA &l
(A) ETE30TT

(B) T

(C) W

(D) gFHIST

97-: It is Gulkoj.
(A) Trios

(B) Tetris

(C) Protein

(D) Hexose
BSEB= 2016C

98-: THIAT 3FT TATT &

(A) FTEfETEsE
(B) Rerf@=
(C) TaT

(D) 9YéreT

28 PEATATET F @ frE aca # 4 3o T

HA® T F a1 &
(A) d=d=TET

() ¥fFesTTss

(C) Eh#ATT

(D) arq

28-: In which of the following element 4f energy level
fills successively

(A) Lanthanide

(B) Actinide

(C) infection

(D) Alloy

Ans-: a

BSEB = 2021

29-: T 16 & ded H Fgl AT ¢
(A) getSTeT

(B) FehrsteT

(C) WHATT dcad

(D) @81 g

29-: Where does the element of group 16 go
(A) Halogen

(B) Calcogen

(C) transition element

(D) Alloy

Ans-: b

BSEB = 1998- 2021

30-: TF T FifE A AMBFA ABF v T
(A) T = K[A]’[BT°

(B)&X = k[A]°[B]?

(C)&X = k[A] [B]°

(D) g1 & FIg

30-: The rate for a zero order reaction AB is
(A) Rate = k[A]°[B]°

(B) Rate = k[A]°[B]?

(C) Rate = k[A] [B] °

(D) any of these

Ans-: a

BSEB = 2007-21

31 M & 1kg# 39U goa & Al i e
N FEA

(A) AYeRAr

(B) AYererar

() fAsterar

(D) &Y THTST



98-: make amino acids
(A) Carbohydrate
(B) Vitamins
(C) fat
(D) Protein

99-: fFeld e H FH @aTl 8l
(A) $TFH BRFHE PR
(B) FH PR HIE®HE
(C) PR $TH BHREPE
(D) BIFHT PR A

99-: Nucleic acid has sequence.
(A) consumed phosphate sugar
(B) Bhasma Sugar Phosphate
(C) Sugar Bhasma Phosphate
(D) Phosphate Sugar Bhasma
BSEB = 2018C

100-: AT IFA F A BT ol
Contains a group of amino acids.

(A) -COOH

(B) -NH2

(C) both

(D) none of these

BSEB = 2020

101-: G R fhEed & 99 ATl HT &I
gt &

The number of Brave lattices in a cubic crystal is
(A)3

(B)1

()4

(D) 14

BSEB-: 2022

102-: U& 3sehad RfFad Aefaf@a & fraa
Ml T Ry gar @

An octahedral void is surrounded by which of the
following number of spheres

(A)4

(B) 6

(C)8

(D) 12

BSEB-: 2022

" 31-: The number of moles of solute present in 1kg of

solute is called
(A) Molarity

(B) molality

(C) Serenity

(D) Mole division
Ans-: B

32-: 349 O A vF AREd a9 W e § faen
e yFR & IRads & 3aaar § 38 Fad €
(A) TfSraeife fAsmor

(B) 3T
() rfaraqea

(D) 3meet

32-: The solution which boils at a certain temperature
without any change in composition is called

(A) azeotropic mixture

(B) unsaturated

(C) supersaturated

(D) Ideal

Ans-: A

33-: Ca(NO3)2 T U5 I U+ ¢
Vand Hoff coefficient of Ca(NO3)2 is
(A)1

(B) 2

3

(D)4

Ans-: C

34-: 9 9% HUNF A F el AT AT § ar
T & Far @ar §

(A) 9T SFHTFATSS oIl &

(B) H2504 UT: 3cUeet §IelT §

(C) AT gAFCIEs & FW A% Hedhe & Wd A ATl
g

(D) ITHTFA FT HIGUT U AT §

34-: What happens in the following when a lead
accumulator cell is charged

(A) Late dioxide dissolves

(B) H2S04 is regenerated

(C) A layer of lead sulphate is deposited on the lead
electrode

(D) the concentration of odorant decreases
Ans-: B



103-;: faf@a & 9 YR & AT & FROT
fhred & udca # F @t &

(A) Seher

(B) arTeehr

(C) 37aTel

(D) F-&Fg

103-: Which of the following type of defect causes
a decrease in the density of a crystal?

(A) Frankel

(B) Schottky

(C) Interstitial

(D) F-Center

BSEB-: 2022

104-: rafaf@a & #l7 FgedT e @
Which of the following is a ferromagnetic
substance ?

(A) Nacl

(B) FeO4

(c) 02

(D) N2

BSEB-: 2022

105-: BYh & 1kg A 3URYT g F Al H
TEAT F FEd

(A) RYear

(B) AYereraT

(C) s YeraT

(D) AT TS

105-: The number of moles of solute per kg of
solvent is called

(A) Molarity

(B) Molality

(C) Normality

(D) mol fraction
BSEB-: 2022

35 gEES-SEITT A PEfafRT § e @E

w1 AT §

(A) FTafAs A

(B) g aer

(C) §uraT A

(D) 95 A A

35-: Hydrogen-Oxygen cell Which type of cell is in the
following

(A) primary cell

(B) secondary cell

(C) fuel cell

(D) Lead Accumulator Cell
Ans-: c



Part-5

36-: HeST T TR ART FIfAT EATA T
T

(A) ITIATISS

(B) 3gfaeT

(C) AP 3rFaT

(D) FTefEIE3T

The name of the hormone secreted by the
pancreas of man is

(A) Thyroid

(B) insulin

(C) nuclear acid

(D) Carbohydrate

And-b

37-: A=Af@T & @ si9 BF F1 33FF I8
g

(a) S savsg

(b) FAATSE

(c) SiwT8e

(d) FTFETFE

Which of the following is not an ore of zinc
(a) Zinc Blend

(b) calamite

(c) Zincite

(d) Bauxite

Ans:-d

' Part-6

71-: d - 3Tf9CT &1 IHR T &
(a) oy

(b) SFaae

(c) S SFaA

(d) 3R @ F1§

The size of the d - orbital is:

(a) spherical

(b) Dumbbell

(c) Double Dumbbell

(d) none of these
Ans-c

72 GAG ST A 91T ST Tl AT o
(a) HTA R

(b) BT

(c) 3T

(d) 3o & F 7

The element found in sea water is:
(a) Magnesium

(b) sodium

(c) lodine

(d) none of these

Ans- ¢

73-: 3fad WIfETH FoREs & Aegd squea &

Futs W FqFT A ¥
(a) FaeT

(b) BYf3TH

(c) BTSZNST

(d) AT 3TFaTSS



38-: fararfaf@a e & & wa et Fl7 2
(a) oISt

(b) YT

(c) GRSt

(d) waFersT

Which of the following sugars is the sweetest
(a) Glucose

(b) lactose

(c) Sucrose

(d) fructose
Ans:-d

BSEB-2017
39-: Rega RAedee #1 3wahr frasd R

AT

(a) SiF Qg &
(b) freger dwer #
(c) @sTT AqeT H
(d) g1 & F§

What is electrical disconnection used for?
(a) zinc coating

(b) electroplating

(c) in potential coating

(d) none of these

Ans:- b

BSEB - 2014

40-: 39 99 ¢
louis is base

(a) NH2

(b) NH3

(c) NH

(d) none of these
Ans:- b

BSEB-2012
41-; AT e #
(A)gar #

(B)qer &

(C) YT H

(D) ®ell &
haemoprotein is found
(A) in fat

(B) in milk

(C) in the blood

(D) Fruits

~Ans:-c

' Liquefied sodium chloride is liberated at the cathode by

electrolysis

(a) chlorine

(b) sodium

(c) Hydrogen

(d) sodium oxide
Ans- b

74-: XA Toa fArAfaf@d &1 agor §
(a) FeTg e

(b) TSR

(c) FeRIR=T

(d) SHETSTE

Natural rubber is a polymer of
(a) styrene

(b) Isoprene

(c) Chloroprene

(d) Butadiene

Ans- b

75-: SUTST H 908 Y F&IT §:
(a) TR

(b) &r

(c) e

(d) IX

The number of bonds in ethene is:
(a) one

(b) two

(c) three

(d) four

Ans- b

BSEB-2015
76-: FEfer THIT FT T 8

The formula for carbol amine is:
(a) C6H5

(b) C6H5NC

(c) NH3

(d) none of these

Ans- b



42-: FrEEEIT A FTAIRT BT died T AP
& AT 1SS THIS UG HIAT ¢ 3§ gl
ST

(A) AT AT

(B) 31§ d+ 18T

(c) 3nfare d+wrss

(D) 5H & HF AL

Carbohydrate which when burnt to provide three
to ten monosaccharide units is called

(A) mono saccharide

(B) Di saccharide

(C) Oligo Saccharide

(D) none of these

Ans:-c

43-: A7 # Fi9 T FEfesse AT FHFHF

& | & gUIT &ar
(A) ¥FeTd

(B) Helalter

(C) TR

() faerfd=r

Which of the following carbohydrate gives silver
mirror with Tollens reagent
(A) Starch

(B) Cellulose

(C) Glucose

(D) Vitamins

Ans:- c

44-: Tk B3 Rgga arT yarfed FI& 9 wred

AT S g

(A) TF AT FHAE

(B) 1 ITH ATl

() Fregga wwafa® gears
(D) 5H & I AL

The quantity obtained by passing a current of one
Faraday will be equal to

(A) one gram equivalent

(B) 1 gram mall

(C) electrochemical equivalent

(D) none of these

Ans:- c

77- ¥AfSET & urg F FAEs & oAy A
TYFA §

In the reduction of metal oxides in smelting,

(a) Al

(b) C

(c) Mg

(d) co

Ans-b

BSEB-2010

78-: TH HT A & | | Emel's formula is:
(a) AINO3

(b) AgNO3

(c) CF2Cc12

(d) K2504Cr2(S04)3.24H20

Ans- a

BSEB-2009

79-: RIFRACAT T 39ART fFAT F1aT §:
(a) TENRREF & T A

(b) WeRe® & ®T A

(c) Werd® & T &

(d) giefeft & v &

Paracetamol is used for:
(a) as antipyretic

(b) as an antibiotic

(c) as a pacifier

(d) as an antidote
Ans-a

BSEB 2009

80-: 3Tl WROM F 7 1% deal P AT ST &
(a) 8T &1

(b) &TRIT S{fAsT &g

(c)mﬂ'\q

(d) g1 & FIg S

Group | elements in the periodic table are considered
(a) alkaline metals

(b) alkaline ground metal

(c) inert gas

(d) none of these

Ans- a

BSEB -2019

81-: AT & FieT AT e IRAT FAGT &
Which acid is found in vinegar?

(A) CH30OH

(B) CH20H

(C) HCOOH

(D)CH3COOH

* BSEB -2020



5. e 3 Rigg w1 Ao wa §
(A) Fege 3ruca

(B) faeger 3rerqEex

(c) faega em

(D) g1 § FI§ et

conduct electricity in solution
(A) electrolyte

(B) electrolytic

(C) electric current

(D) none of these

Ans:- a

a6-: R gfafrar & 3w 3k i #1
9fAfHAT 71 399F FaT A @ ar

If the excitatory energy of the forward and reverse
reaction of a reaction is the same

(A)AH=0

(B) AS=0

(C) zero order reaction (T T I g

(D) none of these
Ans:- a
BSEB = 1998-2018C

47-: [FEY gyw Fife v FAATFAT F71 J9r
s i agh

(A) AT 9T

(B) &9 WX

(C) HfAFRFT F Wigar W

(D) FFHIOT F&T T

The rate constant of a first order reaction does not
depend on

(A) on temperature

(B) under pressure

(C) on the concentration of the reactants

(D) activation energy

Ans:- c

BSEB = 1992

48-: fFdY TEEfA® FfAfRar &1 3o wnfaa
gar 8

(A)aT &

(B) a9 &

(C) |igar &

(D) wfaer &

82-: AAfaf@ad & 9 yaod HEH &

The most powerful bhasma among the following is

(A) NH3

(B) CH3-NH2
(C) (CH3)2-H
(D) CH3COOH
Ans-c

BSEB= 2020

83-: edsllw A« & vals AT ¥
(A) EATCHS FATLIS
(B) RUIcH® FaFCIS
(C) 3T FAFEIS
(D) 57 { I ALt

The anode in a galvanic cell is
(A) positive electrode

(B) negative electrode

(C) neutral electrode

(D) none of these

Ans- a

BSEB-2020

oA APl AT ¥
Which of the following is green
(a) FeSO4. 7H20

(b) CusO4. 5H20

(c) CaSO4. 2H20

(d) none of these

Ans- a

BSEB-2015

85—: S H Wiefe F1 Yo A1aor &ar §
Gives dry mouth of calcium formate

(a) HCOOH

(b) HCHO

(c) CH3COOH

(d) CH3CHO

Ans- b

BSEB-2015

86-: AT - S HT AT §
(a) @3TH

(b) FETBRA

(c) eI

(d) ST & FS

Buena is the monomer of S seo
(a) sodium

(b) Styrene

(c) Sulfur

(d) none of these



The rate of a chemical reaction is affected by
(A) by heat

(B) by pressure

(C) by concentration

(D) by resistance

Ans:- a

BSEB= 2007

49-: Tohelel &1 WHET A 81T &
The general formula of alkanal is

(A) CnH2n-1°

(B)CnH2n+1°

(C) CnH2nO

(D) none of these

BSEB 2020

50-: JEUIRIFT ool ¥ WRARoT fFam &

fAwd ua &

(A) T 3

(B) eI+ & 31
(c) Ifeer 3maer
(D) B 3T

They are able to pass through the semipermeable

membrane in the process of osmosis.
(A) soluble

(B) according to the solvent

(C) complex ions

(D) simple ions

Ans:- b

BSEB=1999-2020

51-: e & ¥ Fw & Rsa wsma a0 uram

ST

(A) et F A F

(B) WYIT & HessY T &
(C) $Heu=

(D) TEIRAA

Tyndall effect is not found in which of the following

(A) in sugar solution

(B) in a colloidal solution of gold
(C) Emulsion

(D) Suspension

Ans:- a

BSEB= 2008-20

‘87-:a~'q319nﬁ$rrn3rar-n%:

Laundry soda contains:
(a) Na2C03.5H20
(b) Na2C03.10H20
(c) Na2C03

(d) none of these
Ans- b

BSEB-2016

88-: AT+ &

(a) TTeR

(b) FrerTer

(c) réraTers

(d) g7 @ F$ A

silicone is

(a) driver

(b) bad conductor
(c) semiconductor
(d) none of these
Ans- ¢

BSEB-2011

89-: STHfATA &1

(a) dTelsh

(b) FETTH

(c) 3rEraTer

(d) $TH @ F1§

is germanium.

(a) driver

(b) bad conductor
(c) semiconductor
(d) none of these
Ans-c

BSEB-2011

90-: fArafaf@a # #ia FEfEEse &

(a)ﬁaﬁ'\"l’
BEED

(c) AFersT

(d) S79F @ F$ T

Which of the following is a carbohydrate:

(a) Glycerol

(b) insulin

(c) lactose

(d) none of these
Ans-c

BSEB-2010



' 52-: RN IME 9T Y B T F age &
gl
(A) sfrer

(B) &1
(C) FTaT

D) 3Tl
What color does ammonia turn a wet paper into?
(A) blue
(B) Green
(C) Black
D) bright
Ans:- a
BSEB= 2001-19

53 —: ATSR® IFa AR fFaAr Iar &,
(AyETF fafer

(B) ¥eares fafer

(C) ThTr HRSYOT

(D) g=X fafer

Nitric acid is prepared.
(A) Contact Method
(B) Ostwald method
(C) photosynthesis
(D) Haber method
Ans:- b

BSEB = 1986-19

54-:9C H IS 3Fd FI aoda ¥ AFHT AT
T &

(A)gcTF

(B) disTET

(C) savemeft

(WRIGEICED

Excessive acid build-up in the stomach can be
prevented

(A) Pratyamla

(B) Pain

(C) Antipyretic

(D) Antibiotic

Ans:- a

BSEB= 2019

91-: {r fhvee Al #T HEAT BT o
The number of basic crystal systems is:
(a)4

(b) 8

(c)7

(d) 14

Ans-c

BSEB = 1985-2017

92-: INFHW FT IWHIAF ATH &
(a) WIf3TH 2TaRe

(b) WfEIH ArERe

(c) @3 3rufaiae

(d) 3T & I

The chemical name of borax is:
(a) sodium tetraborate

(b) sodium metaborate

(c) sodium orthobolate

(d) none of these

Ans- a

BSEB -2016

93—: SAT S TAYUT ST - N g

(C)Ww
(d) 3T & FE G

Buena S and Buena - N is:
(a) natural polymer

(b) synthetic polymer

(c) Sulfur polymer

(d) none of these

Ans- b

BSEB -2019

94-: frEsT iTFHIEor Asrg Faw 310+ gar § ¢
Which has the highest oxidation potential?

(a) Zn

(b) Cu

(c) Ni

(d) Mg

Ans- d

BSEB-2018



55 QT AT B FWBAT F v AT ¥

The equation for a zero order reaction is
(A)t'/2exa

(B)t'/?ox 1/a

(C)t'/? < a2

(D) none of these

Ans:- a

BSEB = 2017

56-: Cr & oI&T0T TMeT gl § AP I8 v
(A) AT d<d

(B) T3 dcd &
(C) AT deqd &
(D) SH @ IS 7@

Characteristics of Cr are colored because it is a
(A) Common elements

(B) Thanide element

(C) is a transition element

(D) none of these

Ans:- ¢

BSEB = 2005

57-: QIET VI T IGTE0T ¢
(A) FGeT T

(B) G odT FI

(C) gfas daeT T

(D) 3TH @ FI§ =l

Potash alum is an example
(A) Reaper

(B) Simple Reaper

(C) double reaper

(D) none of these

58-: fAd<ITer &1 g7 §

The formula for methanol is
(A) CH30OH

(B) CH20H

(C) HCOH

(D) CH4

Ans:- a

BSEB = 2016C

95-: ATYATT # G & WY YT Hr ATelHal -
(a) Tl &

(b) Treelt @

(c) IraRafda @t &

(d) G el @

Conductivity of metal with increase in temperature -
(a) increases

(b) decreases

(c) remains unchanged

(d) doubles

Ans- b

BSEB -1986

96—: H2[pt (C1)6] FT IUPAC ATH §:

(a) TS FFAT FART TARAT (V)
(b) BTSN {FET FART TARAT (1)
(c) BTSZNSTST AT FARISST (IV)

(d) BTSSISTAT EFAT FARISST (1)

The IUPAC name of H2[pt (Cl)6] is:

(a) Hydrogen Hexachloro Platinate (IV)
(b) Hydrogen Hexachloro Platinate (ll)
(c) Hydrogen Hexa Chloride (1V)

(d) Hydrogen Hexa Chloride (Il)

Ans- a

BSEB -2018

97-: THT FIT TT &
extinguished chosen:
(a) Cao

(b) CaCO3

(c) Ca(OH) 2

(d) CaCl2

Ans-c

BSEB-2016

98—: ThIT ACTHITHING IFT & P-0-P g4« HI
e 7

The number of P-O-P bonds in cyclic metaphosphoric
acid is

(a) 2

(b) 0

(c)3

(d)4

Ans- ¢

BSEB-2010



59-: 96500 ke faegd cusos & fafeaa @
HFT T §
96500 Coulomb electricity liberates from solution
of CusO4
(a) 96500 Cu
(b) 63.5 Cu
(c) 31.76 Cu
(d) 100 Cu

Ans:- c
BSEB=2013-15-17(c)

60-: FAfaf@a & &l ifreeea 3l werd
& (Which of the following is an amorphous solid
(a) 8T (diamond)

(b) ABTST (graphite)

(c) 1T (Couch)

(d) |TROT sTHA% (common salt)

Ans:- c
BSEB= 2013-20

61-: rfaf@d & sia #f I vea AT
L

(a) FRIT

(b) FATFETSTA

(c) Rfeaw

(d) g1 & F§

Which of the following gas is a single element?
(a) chlorine

(b) nitrogen

(C) Helium

(d) none of these

62-: fararfaf@a waor arg & maat & Fle
yfageadrr &

Which of the following transition metal ions is
diamagnetic

(a) Co2+

(b) Ni2+

(c) Cu2+

(d) Zn?+

Ans:-d

BSEB-2009-13

' 99.: FARST TH &

(a) Frearaft
(b) EFHYEF
(c) gfcireft
(d) 579 & FI$ T

Chlortone is a:

(a) insecticide
(b) hypnotic

(c) anti-supply
(d) none of these
Ans- b

BSEB -2011

100-: AT RFe RfYr ganT s e &:
(a) 3teares R

(b) g fafer

(c) farsmdor fafer

(d) $TH @ F1§

Ammonia is made by which method:
(a) Ostwald method.

(b) Haber method

(c) Extraction Method

(d) none of these

Ans- b

BSEB = 2013

101-: RAfosT 3 FEsioe weRes & wfafkar @
yred gfawer §

The byproduct obtained from the reaction of silica and
hydrogen fluoride is

(A) SiF3

(B) HSiF4

(C) H2SiF4

(D) H2SiF

Ans-c

102-: IFHT ACTHABING IFT A p-o-p &= Y
e 7

The number of p-o-p bonds in cyclic metaphosphoric
acid is

(A) 4

(B)3

(C)2

(D)0

Ans-b



63-: Na20 # @IfTTH A IqHgEAoTF HEAT &

The covalent number of sodium in Na20 is:

(a) 6
(b) 4
(c) 8
(d) 2
BSEB-2015

64-: TBHISS H TIFd g1 arenm gfadtfaw @

BORIGIGIEE]
(b) FAFABABTT

(c) TeBISS ShieT
(d) eger

The antibiotic used in typhoid is
(a) penicillin

(b) Chloramphenicol

(c) sulfide gene

(d) Capsule

Ans:- b

BSEB-2017

65-: CN.G ¥ H&T w9 & gar &

(a) FA=T

(b) 34T
(c) &=t

(d) 3TsHTSg A

C.N.G I mainly occurs in:
(a) Methane

(b) ethane

(c) butane

(d) isobutane

Ans:- a

BSEB-2016

66-: RANAT Aot &
(Aygar &

(B) gy &

(C)IFd &

(D) welT &
haemoprotein is found
(A) in fat

(B) in milk

(C) in the blood

(D) Fruits

~Ans-c

103-: A FT HET AT ¢
(A) ALN2 TF 02

(B) 02,Co Td N2

(C) cO2,N2 Ta 02

(D)H,02 T CI2

The main component of air is
(A) AlLN2 and 02

(B) 02,Co and N2

(C) CO2,N2 and 02

(D)H202 and CI2

Ans-c

104-: SF6 WY T TFHIHIT JTTAT §
SF6 is the oxidation state of sulfur

(A) -6

(B) +6

(C)-4

(D) +4

Ans-b

105-: 9RT 3 3T 1 FARBFAT F go1ar §
Formed by the reaction of mercury and ozone
(A) HgO

(B) Hg20

(C) HgO2

(D)Hgs

Ans-b



67-: {&d T pH ATT BT &
(A)2 & 3 & HET
()3 & 5 & ALY
(C)6 | 10 & HEY

(D)7.2 & 7.5 & ALY
The pH value of blood is
(A) between 2to 3

(B) between 3 and 5

(C) between 6 to 10

(D) between 7.2to 7.5
Ans-d

68-: fderf@er 'c' &1 &7 W ¥
(A) g TquT Fewr

(B) T YT HARH

(c) @F T gdiar

(D) A TUT T

The main source of Vitamin 'C' is
(A) Lemon and Orange

(B) Banana and Pomegranate
(C) Sev and Papaya

(D) Wheat and Rice

Ans-a

69-: FAfaf@a & =l @r adr 30+
warfeSe &

(A) GehIsT

(B) TefhIoT

(C) peFer

(D) N &

Which of the following sugars is more palatable
(A) Sucrose

(B) Glucose

(C) Fructose

(D) Protein
Ans-d

70-: W& AESH el &
is a messenger

(A) DNA

(B) RNA

(C) m-RNA

(D) t-DNA

~Ans-c



Part-7

1-: ABRF 3FaT 1 A &
The formula for nitric acid is:
(a) HNO2

(b) HNO3

(c) H2N202

(d) HNO4

Ans- b

2-: RS T A I FA H AT 1T §
ar afafFar et &

(a) AT

(b) FeATA

(c) faTwes

(d) 318 @ F1§

When quicklime is dipped in water
so the reaction is

(a) exothermic

(b) endotherm

(c) Explosives

(d) none of these

Ans- a

3. TF YT FET FUT FFATNAST Felrer Hfohar

(hep)ﬁm%mﬂ@ﬁmﬁmg

A metal karava quran is in hexagonal close packing
(hep) then the coordination number of the metal is

(a) 12
(b) 8
(c)4
(d)6
Ans- a

Part-8
1-: a0 HF FagAF arel 4T ¢
The gas with the lowest boiling point is
(A) Ar
(B)H
(C) He
(D) all of them
Ans-c

2-: fawnifra & 3cgpse 9 FlT ¥
Which of the following is a noble gas
(A) H2

(B) N2

(C) He, Ne, Ar

(D) none of these

Ans- ¢

3-: GIANTREA® 3 ¢
is a biphasic acid

(A) H2504

(B) HSO4

(C) HNO3

(D) all of them

Ans- a

BSEB = 2019
4-: a8 goh! U Hoadeee AT &

The lightest and flammable gas is
(A) He

(B) Ar

(C) Ne

(D) none of these

Ans- a

5-: galtorel & fdqga HOMcHF & Ut FT FA ¢

The order of decreasing electronegativity of halogens is.

(A) F, Cl, Br, |
(B)1,Cl,Br,F
(C)Br, I, CLF
(D) F, Br, I, Cl
Ans- a



4-:Wﬂﬂéﬁagaumqaﬁaaﬂﬁwmm‘

TR gy

(a) Tsh ATH Hﬂ'@?ﬂ'

(b) T ATH A

(c) Tega Tarfas Jears

(d) 3TET ATH FAGT

The quantity obtained by passing one Faraday electric
current will be equal to

(a) one gram equivalent

(b) one gram mole

(c) electrochemical equivalent

(d) half a gram equivalent
Ans-c

BSEB-2017
5-: ST TN HFTHE

The electron loving reagent is:
(a) BF3

(b) NH3

(c) H20

(d) none of these

Ans- a

BSEB-2016
6-: Arafaf@d & e vyad Ay 3 &

The strongest Lewis acid among the following is
(a) BF3

(b) NH3

(c) H20

(d) BI3

Ans-d

7-: famafaf@a & #la & urg ggv Amr A qudd
& 9rT ST §

Which of the following metals is found in abundance in
the earth's crust

(a) Mg

(b) Na

(c) Al

(d) Zn

8- Y FITCH HT A ¢

The formula for the lunar caustic is

(a) CH3NO2

(b) AgNO3

(c) AgNO2

(d) NO3

Ans- b

6-: e & Pl W IFT FT W HHAT HIAT §
Which of the following acid attacks glass

(A) HF

(B) HCI

(C) HBr

(D) HI

Ans- a

7-: Fiege 3rquey #1 Jameor §
(A) ==t

(B) @f39sr wfAee

(C) TiRar

(D) T { FI§ Tt

an example of an electrolyte is
(A) Sugar

(B) sodium acetate

(C) Urea

(D) none of these

Ans-b

8-: AYelTeral Yefdid Har &
shows molality

(A) g/L

(B) L/mol

(C) mol/L

(D) mol/kg

Ans-d

9 —: YT Breal ¥ AFaa arenm For 2
(A) Rema®

() e

(c) RegaT

(D) BT

Is a particle coming out of a semipermeable membrane.
(A) solvent

(B) soluble

(C) solution

(D) Formality

Ans- a

10-:9F H oA AT 7 W aF FT a9 0° &
SUPT HRUT § FA ST §

(A) 9ITEIOT

(B) STl 3T9EeT

(c) fEHTF raaHT

(D) FAYATH FT 3eddA



9T gt *1 g7 ¢

The formula of bleaching powder is
(a) CaOCl

(b) CaOCI2

(c) HNO3

(d) CaCO3

Ans- b

BSEB-2009

10-: Y€ H FAMWF 3+ I dd44 F NFHT AT bl
LS

(a) dISTERY

(b) SaX=ITHY

(c) IIFT

(d) 3T & FS TG

Excessive acid build-up in the stomach can be
prevented by:

(a) painkiller

(b) feverish

(c) Pratyamla

(d) none of these

Ans- ¢

BSEB-2019

11-: faf@a & @ F9 & gEsiee qua g
qAaT &

In which of the following hydrogen bond is not formed
(a) NH2

(b) H20

(c) HCI

(d) HF

Ans- ¢

BSEB -2013

12-: T e @ JAfFA & Ao gefiwor @
(A) taxa

(B) t¥2x1/a

(C) thacxa?

(D) 3T & FIE ET

Ans- a
BSEB = 2017

13- frafaf@a & @ Fia arq e @ FfARRET
FT FIFIoIT AT FFd TE HIAT ¢

Which of the following does not liberate hydrogen gas
on reaction with a metal acid?

(A) Mg

(B) Zn

(C) Cu

(D) Fe

~Ans-c

On adding salt to ice, the temperature of ice decreases

from 0° because of

(A) Osmosis

(B) hydrolysis

(C) freezing point depression
(D) elevation of boiling point
Ans-c

11-: FieT HOTHETF IO ¢
which is the molecular property
(A) Kb

(B) ATb

(C) AT

(D) none of these

Ans- b

12-: eI & HUTHETF VT § 0T g § A
fasR w3 §

(A) FUIT F ITHR T

(B) e A ypfa w

(C) Foit #r yrFfa

(D) Foit T FEAT W

The molecular properties of a solution are those
properties which depend on

(A) on the size of the particles

(B) on the nature of the solvent

(C) on the nature of the particles

(D) on the number of particles
Ans-d

13-: HIIT IIIFE IATH §
Copper pyrite ore is

(A) Fe

(B) Na

(C) Cu

(D) Al

Ans-c

BSEB = 2015

14-: ATATHIEE TH IIATH ¢
Malachite is an ore

(A) Fe

(B) Na

(C) Cu

(D) Al

Ans- ¢

BSEB = 2015



14-:q's13’fwazr$rm?ri$ma‘raw%ﬁﬁﬁu“

(A) T§T YA &1q FA g ¥
(B) 98T a1 STeT 8T &
(C) @l aTT e gXaT &

(D) F&T &aT SITeT YT §

The boiling point of water decreases in the mountains
because

(A) there is less atmospheric pressure

(B) there is more pressure

(C) there is less temperature

(D) there is more air

Ans- a

BSEB = 2020

15-: NIRRT g fArafaf@a & & fFa wafieor
EaRT <qFd BT @

Osmotic pressure is expressed by which of the following
equations

(A) P = CRT

(B) P=CT/R

(C) P =CR/T

(D) P =RT/C

Ans- a

BSEB =2020

16-: TS Afavor fRfFar §
(A) ScwACIT

(B) 3reTcshaACHIT

(C) TgefhToT

(D) g1 & FI§ et

chemical adsorption reactions are
(A) reversible

(B) irreversible

(C) polymerization

(D) none of these

Ans- b

BSEB =2020

17-: siifahY rforenwor srfAferar &
(A) AT

(B) 3TchaACHIT

(C) SgefTeRYoT

(D) FTH & F1§ A&

Physics adsorption reaction is
(A) reversible

(B) irreversible

(C) polymerization

~ (D) none of these

15-: foiF soiz 3r9Fs 1 gigor frg R A dar ¥

(A) TTeca gueFhIoT fafer

(B) guhrT qor fafer

(C) theT 3ccamas (A s @ RS T
(D) 3H & FE et

By what method is zinc blend ore concentrated?
(A) Gravity Separation Method

(B) Magnetic separation method

(C) fan buoyancy method none of these

(D) none of these

Ans-c

16-: diFdTEE & M A ggFa fafer g

(A) T&cd quFHIorT fafer
(B) AreTTer fafer
(c) et

(D) TH & FE AE

The method used in the refining of bauxite is
(A) Gravity Separation Method

(B) leaching method

(C) Fan

(D) none of these

Ans- b

17- HIIT IRRSE FT A 8
The formula for copper pyrite is
(A) CuFeS

(B) CuFeS2

(C) Cu2s

(D) CuFe

Ans- b

BSEB = 2010-15

18- v fafaTs @1 Iaew ¢
(A) STFaTSE

(B) gHETSE

(C) P IRRTEC

(D) sH Tef

It is an ore of aluminum.

(A) Bauxite

(B) Hematite

(C) copper pyrite

(D) all of them

Ans- a
BSEB 2010-16-19



18-: CH3CH2NH2 FT &gl STaT ¢l
(A) SUTSS THYT

(B) WHatSer ¥

Ok Lucen

(D) g1 & FI§

Where does CH3CH2NH2 go?
(A) Ethyl amine

(B) propyl amine

(C) Ammonia

(D) none of these

Ans- a

BSEB = 2019

19 FIIT U1 F1 M Frafaf@a & @ e By

gaRT fohaT Sire ¥

(A) dega IrqEee AT
(B) AS TRSHIOT

(C) #se TdraTor

(D) 5H & :E et

Copper metal is refined by which of the following

methods?

(A) electrolysis purification
(B) Circle finishing

(C) Circle test

(D) none of these

Ans- a

BSEB = 2019

20-: AT PR AE 3cqeeT HIAT &l

(A) TaITgH

() @
(C) grafer

(D) DNA

The human body does not produce.
(A) Enzyme
(B) Vitamins
(C) Hormones
(D) DNA

Ans- b

BSEB = 2021

21-: TflelT T IUPAC ATH FT
(A) AT
(B) TdA
(C) =AY
(D) TASA

19—: Uedel HT VAT T 8
The general formula of alkene is
(A) CnH2n + 2

(B) CnH2n

(C) CnH2n-2

(D) none to none

Ans- a

BSEB = 2012

20-: Tohlel T AAT T ¢
The general formula of alkene is
(A) CnH2n+2

(B) CnH2n

(C) CnH2n-2

(D) none to none

Ans- b

BSEB 2015

21-: CHI3 & TdAfew fFar &1 FRoT &
(A) ITASTRTS

(B) 3MANSNT HFT E1hT

(C) 3R A&

(D) ¥ F FF &

Antiseptic action in CHI3 is due to
(A) iodoform

(B) freeing iodine

(C) partial iodine

(D) none to none

Ans- b

BSEB 2010

22-: fireTs 3fRFdA® s F AT $AT mg

T fhad a1y afafear #a §
(A) C2H50H

(B)C2H6

(C) C2H5-ClI

(D)FE F & H$ G

Ether mg salts react with to form Grignard reagent
(A) C2H50H

(B)C2H6

(C) C2H5-CI

(D) none of the

Ans-c

BSEB = 2017

23-: TTITA® HePEd H THAE W ud war ¥
In primary alcohols the group is located at
(A)-CH20H

(B) >CHOH

(C) >C-OH

(D) none of these



What is the IUPAC name of acetone?
(A) Methanol

(B) Ethanal

(C) propanol

(D) Athenone

Ans-c

BSEB = 2021

22-: ReifAsr A wgamar ¥
(A) YfeaTer

(B) Ffewarer

(C) AT

(D) 3R & FE et

Vitamin A is called
(A) Retinol

(B) Calcinol

(C) Toconol

(D) none of these
Ans- a

BSEB = 2021

23-: 5T & FlF-T1 Yo &R )
(A) SSieT AT

() ¥fAfaeT

(c) ¥f{erfde

(D) 5H & :E et

Which of the following is a strong base?
(A) benzene amine

(B) Aniline

(C) Acetamin

(D) none of these

Ans- a

24-: forafaf@a & ¥ #la aAfRITw agas
(A) TN AT

(B) Aegarst

(C) AT 66

D) 5T | g adt

Which of the following is a biodegradable polymer.
(A) Polythene

(B) Cellulose

(C) Nylon 66

D) none of these

Ans- b

BSEB = 2011

24 5ot T AT §oR Y TERIT HeaT §

Which of the following represents mixed ether
(A) R-O-R

(B) R-O-R’

(C) R'-O-R

(D) none of these

Ans- b

25-: FANT &7 framele Aaw dar @
The active radical of ketone is

(A) >C=0

(D) -CHO

(C) -COOH

(D) OH

Ans- a

BSEB = 2020

26-: Tfesgrss &1 foramefler o B
is the functional radical of aldehyde.
(A) >C=0

(B)-CHO S

(C) -COOH

(D) OH

Ans-b

27-: T S & qeEd 1° THAT &1 ¢ i

gl

(A) TfeTss

(B) TATSS

(C) WSS

(D) 3T | FI$

The compound after hydrolysis gives 1° amine.
(A) Annealed
(B) amide
(C) Cyanide
(D) any of these
Ans- b
BSEB = 2018

28-: HTeIH BT Fr T A W ToAaT §
(A) BiATCSETSS

(B) THISS

(c) efiefesgrss

(D) &TH & FE AL

On heating calcium formate is formed
(A) Formaldehyde

(B) amide

(C) Acetaldehyde

(D) none of these

Ans-c



25-: fAeTTeeT garT 39w &1 fFar Srar
(A) JTeFEYHIOT

(B) 3TdhI0T

(C) |igoT

(D)SITIROT

by leaching made of ore
(A) Oxidation

(B) Reduction

(C) Concentration

(D) Jagran

Ans-c

26-: 391 IR FaFH AAFT FoTaT §
(A) @fasr

(B) 3TTTH

(C) &g

(D) 3reITq

Gang and Flux make up
(A) Minerals

(B) Ore

(C) Metal

(D) non-metals

Ans- ¢

27-: bee 3HIG el Y H‘fﬁlﬂ' &TH AT
packaging capacity of bcc unit cell

(A) 68%

(B) 58%

(C) 78%

(D) 48%

Ans- a

28-: HIAYT 99 U4 gF W T 3 & v Al
HT ATATT ¢

(A)11.2 A

(B) 22.2 farex

(C) 22.4 faex

(D)11.4 faeX

The volume of one mole of a gas at normal temperature
and pressure is

(A) 11.2 liters

(B) 22.2 liters

(C) 22.4 liters

(D) 11.4 liters

BSEB = 2015

Ans-c

20 i gar g

(A) & fheee 3
(B) Ster

(c) srfaeifaa ga

(D) FHFfaw fArsor
glass is

(A) fine crystal solid

(B) Gels

(C) supercooled liquid
(D) isomorphic mixture
Ans-c

30-: 31 &TRIT YT gelmsst &1 &1 e FROT e
gl

(A) ITEHY

(B) el QY

(c) F - hegy

(D) 51H & HE et

The color of solid alkaline metal halides is due to
(A) Shortkey

(B) Frankl's defect

(c) F - Center

(D) none of these

Ans- ¢

31-: PRI E fhed e # fFAeT JEeTF geh
grar g ?

(A) Reay amsee

(B) Reax sATES

(c) Bifdas FaRISE

(D) 3nfaw 3Far

What is the essential component of photographic film
plate?

(A) Silver Nitrate

(B) Silver Bromide

(C) sodium chloride

(D) oleic acid

Ans- b

32-: Arfaf@a & Fla 9e@ 7 Fag«ie aeh 9
g2

(A) ET3ZIoTeT

(8) @iferaar

(C) ATSEISTe

(D) 3t



29-:3cFsC AW FT AET WA ¢
(A) TIHS

(B) WAz

(C) aeersT

(D) Ster

The main source of noble gas is
(A) Atmosphere

(B) Samudra

(C) rock

(D) water

Ans- a

30-: ffaf@ad # d WAz A &
Who among the following is Redlead
(A) pb303

(B) pb304

(C) pb03

(D) pb30

Ans- b

31-: PSS FUIT FT HFR FAFfa@d & Faw
AT ar g ?

The size of colloidal particles is between which of the
following?

(A) 10-7-10-° cm

(B) 10-° - 10-""cm

(C) 10-5 - 10-’cm

(D) 10-2- 10-3 cm

Ans-c

32-: T & ol Iq¥ed ¥ fArfaf@ad & 5
$ITSH FT 39N g1 ¢ ?

(A) ATeSST

(B) SIBAST

(C) g

(D) BTIEEST

Which of the following enzymes is used in the
hydrolysis of starch?

(A) Maltage

(B) Zymage

(C) Invertage

(D) Diastase

Ans-d

" Which of the following is the gas with the lowest boiling

point?

(A) Hydrogen
(B) Helium
(C) Nitrogen
(D) Argon
Ans- b

33-: fArfaf@a & sia RAF & § FdBET

qATaT § ?

Which of the following forms only one oxic acid?
(A)Fe2

(B) CI2

(C) Br2

(D) 12

Ans- a

34-: S8 H HeWT T ATFHIFHIOT aTAT §
The oxidation state of sulfur in S8 is

(A) +2

(B)+4

(C)+8

(D)o

Ans-d

35-: Afaf@a & w7 gad F7 amaefia § 2
Which of the following is least volatile?

(A) H.Se

(B) H.Te

(C) HaS

(D) H:0

Ans-d



'33-:ﬁmﬁﬁaﬁma@wﬁ|ﬁéwﬁaga
Rredee 1 5T & @Rt 7d @r § 2

Which of the following metals is not extracted by the
process of electrocution?

(A)Na

(B) Al

(C)mg

(D)Fe

Ans-d

34 g9 1 Y & garr Awafaf@a # e ug
T AT gar § ?

Which of the following metals is refined by Hoop's
method?

(A) Cu

(B) Al

(C) Fe

(D) Zn

Ans- b

35-: HTYFaHCT FETId FL e gard @
a material exhibiting paramagnetism

(A) H20

(B) 02

(C) NacCl

(D) C6H6

Ans-b



Part-9

1 fasaafaf@a & & sl @ gar gEr #=r F=4
T &

(A) TATeS A

() TdraTHIfe®

(C) TraTRfeH

(D) EFdiemgoR

Which of the following medicine reduces fever
(A) Analgesic

(B) Antibiotic

(C) Antipyretic

(D) tranquilizer

Ans-c

2-: frumser vHieT Fr 99T ST GhaT &
(A) got AT gErr

(B) ETpatE Frss HMATHAT gawT

(C) hrser swroeH AFfATHAT gamr

(D) Flea IFTATHAT garT

Methyl amine can be made

(A) by turret reaction

(B) Hoffmans bromide reaction
(C) Friedel Crafts reaction

(D) Kolbe reaction

Ans-b

Part-10

1.9 TT T §T 8 °
The formula of tap water is:
A. H20

B. H30

C.H30

D. DO2

Answer:- A

2. f&eT FT THa & :
Tin stands for:

A. Sn

B.Tn

C.Ti

D. Fe

Answer:- A

3. FIa HT FoFeliad e &

The electronic configuration of carbon is
A. 152, 252, 2p?

B. 1s2, 2s2, 2p'

C. 152, 252, 2p*

D. 1s2, 252, 2p3

Answer:- A

sfRR@a A slg pavs T aa a8t & 2
Which of the following is not an element of P block?
A.Sn

B.P

C.S

D. Ba

Answer:- D

5. |TeC & T q@nT v & & Fier @1 v

ST 1T &

Which of the following acid is prepared by salt cake
furnace?

A. HF

B. HCI

C. HBr

D. Hi



3—: AfeFer 2SS F) edled & a1 AT &
(A) AerTeAs AfRTFAT garr
(B) faeumaer rfAfRAT g@anr
(c) e rfAfeRar ganr
(D) fBETS3ersT #fshar g@anr

Alkyl halides are converted into alcohols
(A) by addition reaction

(B) by displacement reaction

(C) by elimination reaction

(D) by dehydration reaction

Ans-b

4-: CHI3 UdATCew fFAT T FROT ¢
(A) 3TSEIRIe

(B) IS AT I et

(C) 3R+ 3RS 3R 3nfAF CcHI3
(D) 37H @ FI§ =gl

CHI3 causes antiseptic action

(A) Ideoform

(B) release of iodine

(C) partly iodine and partly CHI3
(D) none of these

Ans-b

5-: STl A H2+C12 —> 2Hcl ITATFAT g &
H2+Cl2 —> 2Hcl reaction takes place in water
(A)3
(B) 2
1
(D)0
Ans-d
6-: Uleg H2504 & fastellaor &1 fArafaf@d
Iolgd & Fl 2-5qAT qam
(A) 2-3TA 1- 9T AT
(B) 2-AT¥ WdeT-2-30Te
(C) sg&A-2-30Te
(D) s~ 1 3iTer
Which of the following alcohols on dehydration
with concentrated H2S04 gives 2-butene?
(A) 2-methyl 1-propane o
(B) 2-methyl propan-2-all
(C) butane-2-all
(D) Butane - 1-all
Ans-c

6. PCI5 FT SATAAIT IR ¢ :

A. TS sERfAse
B. TSCH eI
C. I hehI

D.3AH & N gl

6. The geometric shape of PCI5 is :
A. Trigonal bipyramidal

B. octahedral

C. tetrahedral

D. none of these

Answer:- A

7. 7w Aifde @1 gfaye gt wed afew R
Which compound has the highest dipole moment
A. HF

B. HCI

C. HBr

D. HI

Answer:- A

8. W% HNO3 # FiT # urg rframefier & areht &
Which metal becomes inactive in concentrated HNO3?
A.Cu

B. Zn

C. Al

D. Pb

Answer:- C

9. faf@a F w7 G T ¥ 2
Which of the following is colourful?

A. NH3

B. N20

C.NO

D. NO2

Answer:- D

10. 9% AT I I F FW AE THT H AT FH! §
The gas which cannot be collected above water is :

A. H2

B. 02

C.CH4

D. SO2

Answer:- D

11. FaieT AT i 0Far T FfAfFAT TS

AT ¥ :

Chlorine reacts with excess of ammonia to form:
A. NH4CI

B. N2+ HCI

C. N2 + NH4cCl

D. N2 + NCI3



i-:ﬁmﬁﬁaﬁmﬁmmm iz.aw-::fwam%:

3iftehea @ A. GYH HHAT Aot FHT
Which of the following has maximum value of B. gfalr as#or Avf @t
potential C. ?[ahvr . Aot
::)) sl D. T WHHACT AV FT
(C) si 12. Corp members are :

A. first transition category
B. second transition category
C. third transition category
D. fourth transition category

g fafafaa # @ Fld 1 9@ FNN & Answer:- A

Which f‘:: afa-"% : I ts is a liquid at 13. fA908 W&TH @19 &, Y FH A FA :
ICh O e roliowing eiements Is a liquid at room o X
A.UF NS gAFClT UG FT Thot §

(D) Mg
Ans-b

temperature )
(A) Co B. U FAFCldd Yald & AHhd &
(B) Ni ¢. & g e AW T ¥
(C) Hg (Mercury) (9RT) D. 3T ¥ wsft
(D) Mn 13. Ligands are capable of at least :
Ans-c A. can provide a pair of electrons
B. can provide an electron
9-: THRITAS FHIHIOT H2+12 —>2HI T ATFT C. can provide three electrons
. D. all of these
e Far & Answer:- D
(A) T & W ‘
(8) - 14. XfeFer ¢TSS U9 WfEww urg & = sfdfear
INF
c FgaTdl §
() araT = A qéer s
(D) H2 YT 12 HY AT W N

The equilibrium constant of the chemical equation .
q . q C. FellAT HTRTHAT
H2+12 —> 2Hl is

(A) at full pressure D.3TH ¥ FI§ 7dT

(B) on the catalyst 14. The reaction between alkyl halide and sodium metal
(C) at temperature is called -

(D) on the amount of H2 and 12 A. wurtz reaction

Ans-c B. Kolbe reaction

C. Clemmenson reaction
D. none of these

10-:%@'@1@? # m SH % Answer:- A
is the least of the following
(A) NC13 15. AeAledlere eqcdeet Yodhlgr o KOH F ATy
(B) NBr3 B % & &
(C) NI3
(D) NF3 A. ¥edhel
Ans-d B. UodhleT
C. 0eHTZT

D. ¥farasfaeas st



11-: H2s04 &
(A) 3TFT

(B) HEH

(C) TR

(D) oTdel
H2S04 are
(A) Acid

(B) Bhasma
(C) alkali
(D) reaper
Ans-a

12-: K4[Fe(CN)6]
(A) Sdel HIeC
(B) HEH

(C) &TR

(D) SAfeer daeT
Ka[Fe(CN)6]

(A) Double Salt
(B) Bhasma

(C) alkali

(D) Complex reaper
Ans-d

13— UfedsT #T WA 7 &8
The general formula of alkene is
(A) CnH2n+2

(B) CnH2n-2

(C) CnH2n

(D) none to none

Ans-c

14—: 39T A FToT FT FHIOT &

The hybridization of carbon in ethane is
(A) sp3

(B) sp?

(C)sp

(D) sp3d?

Ans-a

15-: TGS HEAT (N) &R &
Avogado number (N) is equal to
(A) 6.023 x 10**

(B) 6.023 10*

(C) 6.023 x 10-%

(D) 6.023 x 10-**

15, Monohalogen derivative reacts with alcoholic KOH :

A. alkane

B. alkene

C. alkene

D. Alicyclic hydrocarbon
Answer:- B

16. 9§ FAFHF fweT 3UANT sYeA-1-3e F 1-
e aa F ¥

The reagent used to prepare 1-bromobutane from
butan-1-ol is

A. CHBr3

B. Br2

C. CH3Br

D. PBr3

Answer:- D

17. 38910 S H gerereler 8, FAF T S & W
AT Fyar ¥

A. IIfAF T

B. WU ISl 1073

C. gI389A dies

D.3AH ¥ wsft

17. Ethanol is water soluble because it forms with water
A. lonic bond

B. covalent bond

C. hydrogen bond

D. all of these
Answer:- C

18. Prafaf@a & #lq waifts s &
A. faTSe

B. Af9reT TedIgeT

C. m-FARIpaT

D. ATSFARFAT o

18. Which of the following is most acidic
A. Phenol

B. Benzyl alcohol

C. m-chlorophenol

D. cyclohexanol

Answer:- C

19. USHAY TehIglod FT 3F ATelldIor &
Aear ¢ :

A. el

B. §¥cX

C. @%vsdl Yewlgled

D. ¥fesgss



16-: 913 FT Ry ques faaw e A &
fFaa gafaa &

(A) 4TI & 9TAT] AR A

(B) &=TTeT Y afey &

(C) ToTgT &Y aIfad &

(D) FAFLIABE F FHIeT R A

Faraday's law of electrolysis is related to which of
the following

(A) atomic mass of the cation

(B) at the rate of cation

(C) at the rate of anion

(D) by equivalent weight of electrolyte
Ans-d

17-: 8T 3T T T ATl AF fAeqTH
The electronic configuration of alkaline earth metal
is

(A) ns?

(B) ns’

(C)np®

(D) ns°

Ans-a

18-: Todhied foiesT & @ &l rfAfrar & &
(A) ARITCHS

(B) afaEuTaaT

(C) gt

(D) 37H @ FI§

Which of the following reactions give alkenes?
(A) additive

(B) Substitution

(C) both

(D) none of these

Ans-a

19-: FIafoiF ST AT YGHUAT FT ARIT §
(A) FTYATR

(B) ST

(c) fafdrse gaca

(D) 5H & I AL

The characteristic of purity of organic solid is
(A) boiling point
(B) melting point
(C) Specific Density
~ (D) none of these

19 Catalytic dehydration of primary alcohols is obtained

from:

A. Ketone

B.Easter

C. secondary alcohol
D. aldehyde
Answer:-D

20. UfesETEs fUH a-g1ssIsier AT gar & , 3T o
g

A. FfAERY

B. Uoaldl WHelel

C. grfsher rfAfrar

D.3AH ¥ H§ gl

20. Aldehydes which do not contain a-hydrogen
participate in :

A. Cannizzaro reaction

B. aldol condensation

C. parking reaction

D. none of these

Answer:- A

21. farafaf@a 7 sl $vex #1 el 7o @
?

Which of the following is the active element of Easter?
A. CHO

B. CHNH2

C. COOR

D. COOCO

Answer:- C

22. AT & 91 () A0St Y TEAT §
The number of pi () bonds in aniline is
A.0

B.1

C.2

D.3

Answer:- D

23. CONH2 U9 FT Fgl T &
A. &S I

B. THIAT 9

c.zAt o

D. FETSA THIA

23. CONH2 group is called
A.Amido Group

B. amino group

C. imino group

D. carbyl amine
Answer:- A



20-: 3RF TF awG § A

(A) 3cUTE & WIFITGEYT WIGOT HY a¢r &aT &
(8) yfafrar & wrFaeyr fus & aRafda
T T &

(C) FTFIATATYT YTCd FIA T AT P FH T
&ar &

(D) wfafFar & FaT werT Far Bl

a catalyst is a thing that

(A) raises the equilibrium concentration of
production

(B) changes the equilibrium constant of the
reaction

(C) reduces the time taken to attain equilibrium
(D) provides energy in the reaction.

Ans-c

21-: AFfaf@a & Rl A Fia §
Who among the following is in Tri-Bhasmiya
(A) H3PO2

(B) H3PO3

(C) H4P207

(D) H3PO4

Ans-d

22-: FAFafaf@a wwaor aig 3maer e
gy Imget srftFae g, 3ud aEgan
FETT A SAFCIAS [QeqTH B

The following transition metal ion which has
maximum magnetic moment will have an
electronic configuration in its outermost orbit
(A) 3d°

(B) 3d?

(C) 3d”

(D) 3d°

Ans-a

23-: yfAfFar +Y F41 FgT AT &
(A) FfaemY gfafsrar
(B) Vstereys wiafsmam
(c) Earpre wfafsar
(D) FaHATH gfafwar

24. C2H5NH2 T IUPACSTH §:

A. 39T AS
B. ¥R+

C. Y 39

D. 3YTSH 3rHA

24. The IUPAC name of C2ZH5NH2 is :
A. Ethenic

B. metonymic

C. amino ethane

D. ethyl amine

Answer:- D

25. ufAw vl i ggae W F q@rr Hr v
g ?

By what is the primary amine identified?
A. HCI

B. CHCI3 + KOH

C. NaOH

D. CHCI3

Answer:- B

26. T HcAWH 4T § ?
Who is highly alkaline?

A. C6H5NH2

B. ( C6H5)2NH

C. CH3NH2

D. (CH3)2NH

Answer:- D

27. CH3CN & 37g&h0T { UIed @ar ¢ :
Reduction of CH3CN gives:

A.CH4

B. CH3COOH

C. C2H5NH2

D. C2H5COOH

Answer:- C

28. faFafaf@a & fras! saFa & & dFsd
Tl gTeT @t g2

A. ATSEES

B. ATSeY NPT

C. Fifaer ¥l

D. ¥HTSS

28. Secondary amine is obtained by reducing which of
the following?

A. Nitrile

B. nitro compound

C. carbyl amine

D. amide



23. what is the reaction called
(A) Cannizzaro reaction

(B) Rosenmund reaction

(C) haloform reaction

(D) Clemens reaction

Ans-b

24— TFHIZS A YIF g arenn! SAfaF Fier @
(A) afafafereT

(B) FARABTTH

(C) AT

(D) HEHTSTS S teT

Used in typhoid! who is organic
(A) Penicillin

(B) Chloramphenic

(C) Terramycin

(D) Sulfadiazine

Ans-b

25 HIST T AR H 9T A CABH ¢
(A) UTETES

(B) ET3fer

(C) FeTgeliet

(D) 37H @ FI§ =gl

The enzyme found in human saliva is
(A) Thyroid

(B) Tylin

(C) Styrene

(D) none of these

Ans-b

26-: & d@H araT &

is a messenger
(A) DNA

(B) RNA

(C) m-RNA

(D) t-DNA
Ans-c

27-: AFAfaf@d & #ld X &
(A) e
(B) I&T
() |+
(D) Rerf@sr

20.FW ¥ TR #F g @ ¥

A. STeT T
B. gTforefisr
C. ThaTIT
D. didiw

29. Used in car tires
A. Buena Rubber
B. polythene

C. Teflon

D. PVA

Answer:- A

30. giforefisT o § :
A. dI9-ueH TAleeH
B. dTUTE Caliec®

C. BIgsa¥

D.3AH ¥ wsft

30. Polytheneis a:

A. heat-set plastic

B. heat resistant plastic
C. fiber

D. all of these
Answer:- A

31. AFafaf@a & #ia gerefier qgS ?
A. ATIAT -6

B. ATIAT51-6, 6

C.3%9 Ueleq arat Difardfier

D. 31T

31. Which of the following is an addition polymer?
A. Nylon-6

B. Nylon-6, 6

C. high density polyethylene

D. Dacron

Answer:- C

32. Frafgrsse O 3t STeifAra agt frar s |Far
T

A. 3§ - dFEE

B. Al Fss

c. snfaa darEs

D.3A8 & wsft

32. Carbohydrate which cannot be further hydrolysed :
A. dye-saccharide

B. Monosaccharide

C. oligosaccharide
D. all of these



Which of the following is an ester
(A) Oil

(B) fat

(C) wax

(D) Vitamins

Ans-c

28-: FIfAFT FT G B3 HgAdT &
(A) FrafgTEse

(B) ATSHIHIH

(C) ATFNFIZAT

(D) 3T { g et

the power house of the cell is called
(A) Carbohydrate

(B) Lysosomes

(C) Mitochondria

(D) none of these

Ans-c

29-: #ifas rferenyor &y BT ?Fﬁ' %’
(A) F8T a9 T

(B) 3TF @9 W

(C) @ aa W}

(D) 5H & I AL

physical adsorption takes place
(A) at room temperature

(B) at high temperature

(C) at low temperature

(D) none of these

Ans-a

30-: 19T AW T FFasd g@arr Awredar § ()

Frferenyor
(GECEINED

(C) gHATHRTOT

(D) 3TH @ FI§ =l

Soap removes grease by
(A) adsorption

(B) absorber

(C) emulsification

(D) none of these

Ans-c

33, Frerfer cg:

A OTFTToF IFdT
B. Afefa® rFar

c. aEfes 3Fa
D. TReRF 3rFa
33. VitaminCis :
A. ascorbic acid
B. nicotinic acid
C. citric acid

D. tartaric acid
Answer:- A

34. @ & fFad fFad Fiaee 3uftaa & 2
A. FARIRer

B. ST fae
c.f@afas ¢
D. faerfa=r B12

34. In which of the following cobalt is present?
A. Chlorophyll

B. hemoglobin

C.Vitamin C

D.Vitamin B12

Answer:- D

35. fararfaf@a & fra ST 3] #1 Mg TF wogE
HHUTH ¢ ?

A. fgRTenfasT

B. FARI el

C. FARISteT

D. ATP

35. Mg is a major constituent of which of the following
biomolecules?

A. hemoglobin

B. Chlorophyll

C. Florigen

D.ATP

Answer:- B



31-: fArafaf@a & sl e aar &2
Which of the following is colourful?

(A) NH3

(B) NO2

(C) N20

(D) NO

Ans-b

32-: fAwafaf@a & fFad Mn Y irerdinor
& 7e1aH § ?

Which of the following has the lowest oxidation
number of Mn?

(A) MnSO4

(B) MnO2

(C) Mn304

(D) Mn207
Ans-a

33-: mfaf@a & sla WFdams adi & 2
(A) FIRIH

(B) Helwifega

(C) T

(D) efaas

Which of the following is not an actinide?
(A) Curium

(B) California

(C) Uranium

(D) Terbium

Ans - d

34-:gsft iz @ &

(A) dfaE| 3T

(B) dfa® H¥H

(C) FerHeT

(D) FTH & F§ AL
all ligands are
(A) Lewis acid
(B) Lewis Bhasma
(C) indifferent
(D) none of these
Ans-b
35-: fArafaf@a & Fla sqgrada ¢ 2
Which of the following is paramagnetic?
(A) Ni (CO)a
(B) [Ni(CN)4]2—-
(C) [NiCl4] 2—
~ (D) [CO(NH3)6]3+



